Short Answer Questions
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1. Using your knowledge of qualitative analysis, what ion do
observe no reaction with potassium chloride?
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3. What metal do you have if you see a violet flame and reacts with barium compounds but not lithium compounds?
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S. Magnesium burns in oxygen to synthesize magnesium oxide powder. If you mixed this powder with water, would it reac
to form an acid or a base? Show the balanced chemical equation.

M o — metal DX(.ét
i nevol oxide + HaO — BaSz (Wj(w()l

6. Sulfur burns in oxygen to synthesize sulfur dioxide powder. If you mixed this powder with water, would it react to form
an acid or a base? Show the balanced chemical equation.

Da ~ onmeral pxice
e noanedal oxide + Ha0 — Acd (H1S0¢D

7. During a camp fire, you notice that the smoke keeps following you around and getting into your eyes. You hate that.
Why does the fire produce smoke? What could you do to help reduce the amount of smoke?

Gmoke = (acom plek combuétign .
) nas more Oy Yo aet complete combugtinn
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8. Hydrocarbons are compounds of carbon and hydrogen. Can you derive an equation to help you remember the amount o:
hydrogens that go with each straight-chain alkane? (Hint: let C be number of carbons and let H be number of hydrogens

> H=mC +b)
H=mCth

H:&C+Q

9. Nitrogen dioxide is a chemical that comes out in car exhaust. What do you suppose would happen when this chemical
gets up into the atmosphere? What would it react with? What compound(s) would it make? What type of reaction is this?
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4 YMeannesium hvdrowide and hvdrooen sulfate resct o form mzanesiur fate srmd wnatar
. Magnesium hydroxide and hydrogen sulfate react to form magne sium sulfate and wates
2 Hydrogen carbonate forms water and carbon dioxide

Hp (03 — Ha0o + CO
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5. Banum axide reacts with water to form barum hydrosade
’an + 'qu - B" OH)l
5 Copper and hydrogen sulfate react to fonm copper (1) sulfate and water and sulfur diosxide
(w 04— (aw 504 4IHL0 t Sba
7. Copper (I} nitride breaks down to form copper metal and nitrogen gas
B. Zinc and lead (1) nitrate yeact to form zinc (1) nitrate and |ead Pb
2+ PN, —s 2a (M09 t
9. Potassium metal and fluonne gas comrbine to form potassium bromide.

2K + ¥y —2 kT

10.  Silver and hydrogen carbonate react to form silver carbonate and hydrogen gas.

N Ry + Hyl0y—s Aaloy ¥ fa



B. Balance the following reactions and irdicate which of the six iypes of chemical reaclion
arp hoing renros, i

iKeaction Type

2D PO, > 3 M + __poypog,  Saqle ©.
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8. 2 2-dimethyl-4 5 gftripropyldecane 6. 44-dibutylnon

7. 224456 6,88 octamethyldecane B. cyclohexane
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